Ao SR Atk AR A

F JHH AT e
10648 N\ CIRRFRZEE 2 FHEE(+) E104 483,460,581
1055 —MeHR 75 < FHAEE: A BG106=N105+E104 92,954,852,404
R 4E R --— RS A R R N106 0.04585
FiFR2— IR EERE(REE) N106=BG106*(1+N) 97,216,832,387
10648 Pras Or B #Rp 8 il R Q106 0.001
106 W E RS R A ETEE Q106=BG106*Q;g 92,954,852
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FE2o 2 A (JE FEEL) OPDN106=KGH106-IPDG106+PC106 -DYG106 40,938.411,307
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BSEHBAER P10 0.23830901
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KGHA106=KGB106+DY G106

OPDGA106=KGHA106-IPDGA106+PC106-DY G106

IPDGA106=(KGHA106*55%) +PC106

DY N6
DYG106=DYG105*(1+DY Nyqe)

SG106=HCV106+FG106+0OTG106+QRG106+ERG106+DRGs106+HS106+LA

HCV106 ( £:4E7HH2655 &7t )
FG106 (&4FTHRI12452.5HE7T)

OTG106 ( &FEFEEA215.7THET)

QRG106 (&FFHEIIT.SHEIT)

ERG106 ( &4ETEE160.05HETT)
DRGs106(4 4 THH 300 H & T)
HS106(24FFHEG60H & IT)
LAL06(£F-THEB00H & T)
G106=KGB106+DYG106+SG106+Q106+Q105
G106/G105-1

101,657,562,762
40,786,428,173
55,911,659,519

0.02975
4,959,475,070
5,410,175,000

663,750,000

3,113,125,000

1,053,925,000
249,375,000
40,000,000
75,000,000
15,000,000
200,000,000
107,248,742,158
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